Yorard =
B NER
1. LEA4
T4 N 6 B ILSTE IS KA ) | g i T
TEH 4 BB AR AL RT (X W R ~ A e BTy Ak
2. TENE
1)  FHEIT4 BEFIEEFEITT LEE %
2) T I& R T
3) I i1} 1005 H i H A 64F 4H30H
ES SF 9 1H29H
4) T EgE

sz T ET R



THE4

T4y - T - flR]
Hite LA

AN 6 AR E AL SR E B KA I AR L T

LA #

e

)

B N ERE

THRET

Y

x

&
1, 540, 283, 004

2

HrEfET

x

1, 540, 283, 004

1,012, 386, 703 | #4/EIN T

(555 %)

SEM T
(BRAR)
SM570-H ;
SEM T
(BRAR)
SM570 ;
SEM T
(BRAR)
SM490YB ;
fEM T
(BRAR)
SM490YA ;
fEM T
(BRAR)
SM490B ;
fEM T
(BRAR)
SM400A ;
fEM T
(BRAR)
$S400 ;
fEM T
(BRAR)
SUS304 ;
fEM T
(F-4)
$5400 ;
SLYENN T

144.9

563. 8

465. 1

545.2

282

30.5

0.004

0.1

sz T ET R




THE4

LHEX Sy - L - fEjl

AN 6 AR E AL SR E B KA I AR L T

HOAL

#

PR NERE

e
e

IR}
&

(CSuginpiA:)
$S400 ;
AR T

2

()

SUS304TP ;

AR T

(4i)
$5400 ;
AR

=t

(S10T M22X180)
H.T.B;

Wb Fyh

(S10T M22X170)
H.T.B;

Tty
(S10T M22X165)
H.T.B;

H Wby b

(S10T M22X160)
H.T.B;

Tty
(S10T M22X155)
H.T.B;

H Wby b

(S10T M22X150)
H.T.B;

Tty
(S10T M22X145)
H.T.B;

H Wby b

(S10T M22X140)

HT.B;
RS

(S10T M22X135)

0.004

0. 36

1, 140

570

516

696

408

354

1,118

1, 050

1,116

t

sz T ET R



B N ERE

THE4 | 6 FREALSOE R Kk | 8 L T

i
&
o
S
=
&0
vy

il

T4y - T - flR] HOAL #

2

H.T.B;

K WhFy b 300 i
(S10T M22X130)
H.T.B;

K WhFy b 1,702 i
(S10T M22Xx125)
H.T.B;

K WhFy b 840 i
(S10T M22X120)
H.T.B;

K WhFy b 3, 804 i
(S10T M22X115)
H.T.B;

K WhFy b 340 i
(S10T M22Xx110)
H.T.B;

K WhFy b 4, 428 i
(S10T M22X105)
H.T.B;

K WhFy b 5, 346 i
(S10T M22X100)
H.T.B;

K WhFy b 810 i
(S10T M22X95)
H.T.B;

I AN A 2, 688 i
(S10T M22X90)
H.T.B;

I AN A 216 i
(S10T M22X%85)
H.T.B;

I AN A 252 i
(S10T M22X%80)
H.T.B;

-3 - sz T ET R




B N ERE

THE4 | 6 FREALSOE R Kk | 8 L T

i
&
o
S
=
&0
vy

il

T4y - T - flR] HOAL #

2

K WhFy b 3,528 i
(S10T M22X75)
H.T.B;

K WhFy b 3, 408 i
(S10T M22X70)
H.T.B;

H Wby b 888 i
(S10T M22X65)
H.T.B;

AN ) 88 i
(S10TM M22 X 180)
H.T.B;

AN ) 44 i
(S10TM M22X170)
H.T.B;

AN ) 40 i
(S10TM M22 X 165)
H.T.B;

AN ) 32 i
(S10TM M22 X 160)
H.T.B;

AN ) 32 i
(S10TM M22 X 155)
H.T.B;

AN ) 28 i
(S10TM M22 X 150)
H.T.B;

K WhFy b 1, 256 i
(S10TM M22 X 145)
H.T.B;

K WhFy b 1, 284 i
(S10TM M22 % 140)
H.T.B;

AN 1,258 L

-4 - sz T ET R




B N ERE

THE4 | 6 FREALSOE R Kk | 8 L T

i
&
o
S
=
&0
vy

il

T4y - T - flR] HOAL #

2

(S10TM M22 X 135)
H.T.B;

H Wby b 378 i
(S10TM M22X130)
H.T.B;

K WhFy b 1,902 i
(S10TM M22 X 125)
H.T.B;

K WhFy b 1,174 i
(S10TM M22 X 120)
H.T.B;

K WhFy b 1, 796 i
(S10TM M22Xx115)
H.T.B;

H Wby b 666 i
(S10TM M22Xx110)
H.T.B;

H Wby b 896 i
(S10TM M22X105)
H.T.B;

K WhFy b 2,194 i
(S10TM M22%100)
H.T.B;

H Wby b 432 i
(S10TM M22 < 95)
H.T.B;

H Wby b 898 i
(S10TM M22<90)
H.T.B;

H Wby b 816 i
(S10TM M22 X< 85)
H.T.B;

K WhFyh 8, 420 L
(S10TM M22 X 80)

-5 - sz T ET R




B N ERE

THE4 | 6 FREALSOE R Kk | 8 L T

i
&
o
S
=
&0
vy

il

T4y - T - flR] HOAL #

2

H.T.B;

K WhFy b 31, 588 i
(S10TM M22 X 75)
H.T.B;

K WhFy b 19, 328 i
(S10TM M22<70)
H.T.B;

K WhFy b 644 i
(S10TM M22 X 65)
H.T.B;

K WhFy b 900 i
(S10TM M22 X 60)
H.T.B;

K WhFy b 96 i
(F10TM M22 X 150)
H.T.B;

K WhFy b 96 i
(F10TM M22 X 145)
H.T.B;

K WhFy b 92 i
(F10TM M22 X 140)
H.T.B;

K WhFy b 28 i
(F10TM M22 X 135)
H.T.B;

I AN A 152 i
(F10TM M22 X 130)
H.T.B;

I AN A 92 i
(F10TM M22 X 125)
H.T.B;

I AN A 144 i
(F10TM M22 X 120)
H.T.B;

-6 - sz T ET R




B N ERE

THE4 | 6 FREALSOE R Kk | 8 L T

i
&
o
S
=
&0
vy

il

T4y - T - flR] HOAL #

2

Kby b 68 i
(F10TM M22X115)
H.T.B;

AN ) 72 i
(F10TM M22X110)
H.T.B;

H Wby b 184 i
(F10TM M22 X 105)
H.T.B;

AN ) 36 i
(F10TM M22 X 100)
H.T.B;

AN ) 68 i
(F10TM M22 X< 95)
H.T.B;

AN ) 72 i
(F10TM M22<90)
H.T.B;

H Wby b 204 i
(F10TM M22 X 85)
H.T.B;

H Wby b 176 i
(F10TM M22 X< 80)
H.T.B;

H Wby b 264 i
(F10TM M22 X 75)
H.T.B;

I AN A 16, 168 i
(F10TM M22 X 70)
H.T.B;

H Wby b 920 i
(F10TM M22 X 65)
H.T.B;

AN 2,572 L

-7 - sz T ET R




B N ERE

THE4 | 6 FREALSOE R Kk | 8 L T

THERXSy « LFE - fEmH A B & & # 1l &) 7

(F10TM M22 X< 60)
H.T.B;

H Wby b 12 i
$S400 M16 X 160 (IN) ;

H Wby b 6 i
$S400 M16 X 155 (IN) ;

K WhFy b 12 i
SS400 M16 X 145 (IN) ;

H Wby b 12 i
$S400 M16 X130 (IN) ;

K WhFy b 12 i
$S400 M16 X125 (IN) ;

K WhFy b 24 i
SS400 M16 X120 (IN) ;

Kbty b 6 H
$S400 M16 X115 (IN) ;

H Wby b 6 i
$S400 M16 X110 (IN) ;

K WhFy b 18 i
$S400 M16 X105 (IN) ;

H Wby b 42 i
SS400 M16 X 90 (1N) ;

K WhFy b 18 i
SS400 M16 X80 (1IN) ;

I AN A 12 i
SS400 M16 X 75(1N) ;

H Wby b 24 i
SS400 M16 X 70(1N) ;

I AN A 72 i
SS400 M16 X 65 (1N) ;

I AN A 138 i
SS400 M16 X 60 (1N) ;

K WhFyh 102 L
$S400 M16 X 55 (1IN) ;

-8 - sz T ET R




B N ERE

THE4 | 6 FREALSOE R Kk | 8 L T

THEXSy - THE - Fl5 A B & & B A il ! B

K wbetol 108 #
SS400 M16 X 50 (1N) ;

Kb 4 A
SS400 M16X110 ;

Fyb 4 fi&
SS400 M20 ;

Ele'y 8 A
SWRM8 ¢ 5X50 ;

My by AT 16, 366
SS400 ¢ 22X 150 ;

PRI 4 2, 805 1A
SS400 ;

2 MR 4 e
47" VyaTh 680X 1 X880 ;

. 4 %
TyFa"h $60X54 ¢ 18FLH ;

. 4 %
TyFa"h $60Xx22 ¢ I8FLH ;

A K B T 2V 1 495, 657 | BLUEMT 1 =K

(3 B%E)

fEM T 0.93 t
(BRI
SM400A ;

fEM T 0. 05 t
(BRI
$S400 ;

g =& 1 233,000, 000 | K=" 43K 2 fe

(A2fBH)
B KX F7=52T0kN ;

PRENS T 2 fe
(PRI
B K F7=12880kN ;

PSAENS ¥ 2 [

-9 - sz T ET R




B N ERE

THE4 | 6 FREALSOE R Kk | 8 L T

T4y - T - flR] HOAL #

i
&
‘\?é].[
=3

il 2! B

(P2 )
B K F7=10450kN ;

KA W3 2 &
(P14 D)
B K F7=12060kN ;

KA W3 2 &
AIFGH)
B¢ K F7=4320kN ;

BEAK 40 &l
FC250 400X 654 X 505 ;

TIGBIET Y 1 294, 400, 644 | BiTALPR 16, 080 m2
(77 FAMLER)
AZAE S VAY kG

HiTLEE 15, 360 m2
(B /7 T BALEe)
AZAES VA Y kG

&RV 10, 120 m2
B/ NEZIFIRE & 100 wmBh b g

&RV 2,090 m2
B/ N IFIRE & 200 wmlh b g

B FLALER 10, 120 m2
BALALFRA] 27" -k

T 510 m2
MRS V)P (v BEERE 1A 300g/m2 (30
wm ;

T 3, 360 m2
MRS V) yFA" AV BEEREEL 1A 600g/m2 (75
wm ;

T 15, 360 m2
ZEMEIR ¥V RHIE RN BRI 2R 410g/
m2 (120 m) ;

Ao% 0.1 t
ARMERSR A9 HDZTTT

ks 0.2 t

- 10 - sz T ET R




B N ERE

THE4 | 6 FREALSOE R Kk | 8 L T

THRX4y « THE - i Bz ¥ & & Hm il W 7
ARMERSR Ao HDZT49
e iR a4 2V 1 140, 832, 434
T34 T2 Y 1 1,681, 115, 438
TIGE 2V 1 257, 861, 338
(T 8AEJRA) 2V 1 1,938, 976, 776
AR Y 1 843, 060, 768
T35 i T = 1 38, 960, 206
ik T = 1 38, 960, 206 | ik 2,045. 5 t
B B (BiAT) 610.9 t
LR T = 1 463,012, 933
H#H T = 1 7,416,326 |HukE 1 =
BREE T (JVv—VBEE%) = 1 27, 094, 659
ZERR T (GEH LBERR) Y 1 398, 915, 829
XA T = 1 4,547,000 | KHa" W3 AKERE 10 &l
— K
BIGHkF T = 1 25,039, 119 | AfEDH W) 133,116 N
TERBLG R T Y 1 14, 956, 812
BT = 1 14,956, 812 | & HhFH4E 1,620 m2
B 7] T B ALER
T 1,620 m2
Aba-b ZEpEah kyAE R (1E) 130g/m2 #4e

- 11 - sz T ET R




B N ERE

THE4 | 6 FREALSOE R Kk | 8 L T

THRXSy - LA - fERl B ¥ = & H A il ! 7
B 1]
T 1,620 m2
RS *vEE gk 2RI Y /f8) 500g/m2 (
150 pm) BEEEER 1A
PRIE T X 1 129, 313, 849
RCEFJ T = 1 129, 313,849 | #:fh 361.79 t
SD345 D16~25 ;
2y )=} 1,134 m3
27-12-25(20) (1) fZaRAl ;
e 1 A
— R
T ! A
s U7 R R
TR Ry T A 1 124, 029, 840
PAEE T 9 1 11,409,309 | Hkii 40 T
HEAKMB 20kg/fE LI L 110kg/fEHLLTF ;
PEAKE 324 m
(VP200A)
VP
PEAKE 67 m
(VP40A)
VP
PRISHER 10 &Pt
Pk 47 40 m
¢ 25 SUS ;
HOTE - BE o T = 1 27,941,090 |l 1 =«
— R
kAT 37.25 t
SD345 D13 ;
kAT 1.1 t
SD345 D16~25 ;
20—} 241 m3

- 12 - sz T ET R




B N ERE

THE4 | 6 FREALSOE R Kk | 8 L T

THEXS - T - FER Bz ¥ = & i 1l % 3
24-12-25(20) (FEH7) ;
B Hib 2 m2
VR MAHEE B AR t=10 ;
155 % B 150 i T
FIVEBG 1L %5 T Y 1 1,762,200 [R5 IE 300 m2
& G2 B3 AT T Y 1 435,381 | & T#BL 1 T/0-5 Wb 103 #H
(U-M12X 220 4N 2W) X2 SS400 Av¥ih ;
WA T = 1 49, 593, 600 | FAL IS 369 m
WA T = 1 32,826, 000 |HRATES 12 m
(AIfEH)
TR 28 m
(PLFEIHD
TR 28 m
(P21&HD)
TR 28 m
(P3t&IHD
TR 12 m
(A24BH)
BT = 1 62,260 | AL 1 i
G R R E T = 1 51, 525, 440
ey T = 1 45, 615, 650
TR T o 1 2, 696, 790
R AR T = 1 3,213, 000
&H T Y 1 1, 170, 878
BB £ 1 585,439 |2/ -} 6 m3
24-12-25(20) (@) —xEA av)) - MR EIEIHE

- 13 - sz T ET R




PR NERE

THE4 | 6 FREALSOE R Kk | 8 L T

THXSy « TfE - FER A B & & B # a1l ) 7
111
2831} 0.4 t
SD345 D13 ;
2831} 0.1 t
SD345 D16~25 ;
e 1 =K
— MR
L% H H 2 i T
PN £ 1 585,439 |av/)-} 6 m3
24-12-25(20) (FIF) —MeBA av)) - MR EIHE
111
2831} 0.4 t
SD345 D13 ;
2831} 0.1 t
SD345 D16~25 ;
T 1 =K
— MR
L% H H 2 i T
R T Y 1 20, 090, 810
87 - ki B T Y 1 5,830, 544 | FEURE+ 1, 000 m3
4. 0mPA F
KA+ 5 446 1%
UE-RE -
87 - ki B T Y 1 5,830, 544 | FEURE+ 1, 000 m3
4. 0mPA F
KA+ 5 446 1%
BUE-RE -
15 I T Y 1 4,563,000 |{5EBSIE7202 100 m
HE-WE
15 I T Y 1 2,399, 000 |{5EBS L7202 100 m
HE-WE
TE R ALER T = 1 30, 361

- 14 - sz T ET R




HNERE

THE4 | 6 FREALSOE R Kk | 8 L T

THEXS - T - FER B ¥ = & Hm a1l N 3

TE LR T = 30, 361

A EE T Y 1,407,000 |Z@#HEEfEE 1 =

B (R[M)

RS 2V 1 843, 060, 768
Il R Y 1 87, 449, 530
o Y 1 25, 016, 530

TR 2V 1 21,407, 730 | BRI 0 fRAA N 1 2V

Tl B AR ) LN B 6 1 2V

Tl B AR ) LN B 6 1 2V

Tl B AR ) RN B 6 1 2V

IRER B S 1 2V

Bl B2 By 1 58,800 | & M i % FEAT —IERk 1 EN
Bl RIEUER (FE L) Y 1 3, 550, 000
Il (it L) Y 1 62, 433, 000
il T Y 1 930, 510, 298
Bl 2V 1 267, 313, 000
(B J7A) 2V 1 1, 197, 823, 298
T =5 Y 1 3, 136, 800, 074
— R B 2V 1 308, 089, 926
T HAm#E Y 1 3, 444, 890, 000

,15,

sz T ET R




